( ; ‘ o lm N W‘
I Q- g}\/ﬁwm Ond @OUZ}\ fwed movermwl 1 _
QA 0w it b e abet A  hep T mi Ae wel o BT
i Heiwr  vnonmemia) diat? | in [Flxyl=2  hor A Jown
|| ' @-—-? @r"’a@r"'—?&ﬂp/x}'@ : ‘i““,
il The 2-V oacﬂfa i b b o
1 ' Q L | 0'4'vv Ve S
I T=dmy,,me <x xS L N
Al 1 oder (omin Wndy (s
i ////// (O|> >'(7lr\a ‘
|
LA Lo ¢ | - I
vl / / <thr Cor o
s e (33 ' - |- .qut\l ‘ 'ZXG‘ ih
i ; m’ { MUZ/I,X,Y\ - }
L;‘—:_J T T TT \'Wed L e Mn‘;&%; TT%Z :
base Myw 9ies (\/ (S \(1) Ly Y } 0 W@@ T hoi intdudont wadvedls devdmp %
[ } k) R i j
<\ N | LTk ‘7“> N AN
0 | ! :
\f (Y‘ 73) ~Wy*)-0 | | Ow}i-\"z@. | ol% [
'if : | # L=0 | & 00

e

W\l 0y :
| % Dyow V'V‘\W‘

{(The ore NI LY (Y mw@h@éﬂ?
""i‘g SQ Rea wain) M W\”E Hon o E/I

DO %\Qﬂh'&{osv:ﬂ'fwl éy {}é@ngi” W@W@em?
Yer, bk we natd b 90 4o hishar  dimn.




i Two W\ Y che ong s | | @ W
I Sey Tyt 28 Xpe xve xl\/z> < [Fhcy,23 = =3 J |

i | ._ d |
| Ol b ey we - 9in e TV =& Ry, Ry > (2 son)

’4 ‘ M Yre ‘Y[)a!(}v{"lﬂ)ﬁbnﬂﬂ‘g 7
|
\

W lpow how to doet willh Hur ore

L =tnKXs, WY, BB bh Kk h3, .. > |

i CROGY%, ., 3% = S Mu 1%

Al ; o | . chdiGe, o

| Ve {non how b doal with Hrisore | o Cogue Wilberd  Juier ae  egal (vav{;,! }

N fggs ,» C(RIT:4) = LR g0, T3 4) .
il : o , PRACRVE RS A

o Li7=2\S/t , - 43kd ot ‘

1\;5 ( ) /<X"X77XL’X3) i, %_5'24> ;

]j O Bekb nurbes au  bonded’

o Cs m%. A i M\Q. 1 . i | ' §\
Fom - dne vl At ok, /Wil gy of /% oo (1) < P (2/5in T) (lokery
W9 et of  R/T L, skhny %ok ‘ ‘ i

Yoy, =1 | | Tkt
Trodle Connd we - Haig 4o wm?w‘:{ Y. A Hilbot

' Sy £ . |
.‘@‘9- ng I) &~ ((MLM//F’P o A) » i | gU/iQJ or %\'L Wﬁwi ’B&i %,quhow.
| husel! ) |
6 W s g e e i

(1,12, 66,229 4%, 368,333, 264,5 1) Ragle do  picheas

- So My if | |
~ ~900d Y proving Hhgmgins | l
i “bod for aghally pompsking.




